
30 6

29 PCS 1

28 PCS 1

27 PCS 10

26 PCS 1

25 PCS 2

24 PCS 1 Inside

23 PCS 2

22

21 PCS 2

20 PCS 2

19 PCS 6

18 PCS 4

17 PCS 4

16 PCS 1

15 PCS 1

14 PCS 1

13 PCS 3

12 PCS 1

11 PCS 1

10 PCS 1 Outside

9 PCS 4

8 PCS 4

7 PCS 1

6 PCS 1

5 PCS 6

4 PCS 3

3 PCS 3

2 PCS 6

1 PCS 3

Mark Times Signature Date

Design Standardisation Version Weight (kg)Proportion

File Updated No.

Verify

Craft Approval

Thermostat's Tighting Screw

No. Description Specification / Material

M4x6

M4x8

230V / 1500W

M6 x 20

M6

M6 x 20

M4x10

Serial No.

Screw

Oil Collection Tank

Blanking Plate's Tighting Screw

Bottom Blanking Plate

Screw

Connecting Terminal

Heat Insulation Cotton's Blanking Plate

Heat Insulation Cotton

Baffle Panel between Heater and Cotton

Electric Heating Element's Pressing Plate

Electric Heating Element

Screw

Small Rubber Supporting Feet

Power Cord

M4x10

M4x8

Connecting Terminal

Screw

Grounding Nut

Blanking Plate's Tighting Screw

Power Cord Sleeve

Blanking Plate for Electrical Connector

TWOTHOUSAND

MACHINERY CO., LTD

Projectio

n Exploded View

Material

Remark

Page 1
TT-WE198E

Power Indicator

Thermostat

Knob Base Seating

Thermostat Knob

M4

M4x6

Nut

Outside Electrical Connector

Griddle Body Cabinet

Unit AMT.

Nut

Oil Collection Tank Cover


